Table S2. The network characteristics of the network growth models

Model 'parameters 2<k> Sy Coi?flisctg:l?% Q) l\l/lnodif?g)y *Triangle density (T) 3 AD
PA - 8.0£0.0 -2.0£0.1 0.010+0.0005 0.33+0.003 0.066=0.005 -0.08+0.03 -0.80+0.03
q=0.5 7.4+0.8 -1.9+0.07 0.015%0.002 0.62+0.05 0.080+0.01 -0.27+0.07 -0.28+0.04
p=0.05 q=0.6 3.9+0.2 -2.2+0.08 0.019+0.003 0.79+0.03 0.046=0.007 -0.26+0.07 -0.27+0.04
q=0.7 2.4+0.08 -2.620.1 0.024+0.004 0.88+0.01 0.027+0.004 -0.27+0.06 -0.22+0.04
q=0.5 7.7+0.9 -1.9+0.07 0.030+0.004 0.62:£0.06 0.16+0.02 -0.200.06 -0.27+0.02
DD p=0.1 q=0.6 4.0+0.3 -2.240.08 0.035+0.004 0.79+0.04 0.087+0.008 -0.21£0.07 -0.27+0.05
q=0.7 2.5+0.08 -2.6£0.1 0.045+0.006 0.88+0.01 0.053%0.005 -0.22+0.06 -0.21+0.05
q=0.5 8.30.8 -1.9+0.06 0.055%0.006 0.61£0.05 0.30£0.018 -0.13£0.05 -0.28+0.04
p=0.2 q=0.6 43+0.3 -2.2+0.08 0.070+0.008 0.79+0.04 0.17£0.01 -0.13£0.05 -0.2420.04
q=0.7 2.7+0.09 -2.6+0.1 0.085+0.007 0.88+0.01 0.099+0.007 -0.14£0.05 -0.2120.04
6DDasym p=0.1 q=0.6 6.1+0.6 -1.8+0.05 0.035+0.004 0.64+0.05 0.24+0.032 -0.14£0.06 -0.69+0.04
7DDaSym_rw p=0.1 q=0.6 8.50.5 -1.8+0.05 0.035+0.002 0.440.02 0.20£0.026 0.08+0.02 -0.56+0.03
AP - 8.0£0.0 -3.30.2 0.007+0.0004 0.34+0.004 0.018+0.001 0.37£0.02 0.47+0.02
Newman 8.0£0.0 -2.83+0.06 0.28+0.007 0.77+0.02 1.01£0.03 -0.13+0.02 0.50+0.10
o TCC 8.0+0.0 -2.82+0.06 0.27+0.006 0.77+0.02 1.01+0.02 -0.14+0.02 0.51+0.16

Each model is run 100 times until the number of nodes reaches 3000. The average degree is constant (<k>=8.0) for PA, AP and CG model but is variable in DD model depending
on the parameters p and q.

' In DD model, p=the connection probability between duplicates, g=the divergence probability. In CG model, the module is defined by the method by Newman or TCC
(triangularly connected component).

? average degree

3 the degree exponent in P(k) ~ k™

*the number of triangles per edge

Sthe mixing exponent  in <ky,>(k) ~ k®
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